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LLB ENTRANCE EXAM SAMPLE QUESTIONS 1

1. Which one of the following expressions is
correct?

(a) The scenes of Kashmir are charming
(b) The sceneries of Kashmir are charming
(c) The scenery of Kashmir is charming

(d) The scene of Kashmir is charming

2. Which one of the following is a fundamental
duty of citizens?

(a) to sing National Anthem
(b) to pay equal wages to men and women

(c) guardians to provide for education \t
children between 6 and 14 years of age

(d) to organize village panchayats
3.  Which one of the following does no
company -
(a) articles of association
(b) prospectus
(c) dissolutipn
(d) winding up
4. Which one of t
environmental

(a) Public Liability Insurance
(b) National Environment Appellate Authority
(c) National Envirgnment Tribunal
(d) National Highway Authority

5. The adult suffrage has been provided under -
(a) Constitution of India
(b) Representation of Peoples Act
(c) Right to Information Act
(d) Indian Majority Act

elate to

6. | can say this his face.
(a) on (b) upon
(c) over (d) to
7. M.B.B.S. doctor is qualified to
practise medicine.
(@A (b) The
(c) An (d) Every
8. Nothing can be achieved without
a certain.

10.

13.

14.

15.

16.

17.

(a) Getting (b) sacrificing
(c) enduring (d) imbibing
He is so of his own intelligence

that he will not entertain any suggestion from
others

(a) hopeful
(c) jealous
He was about

3/ minister has been
p following an attack at a

(b) bloated

steered (d) beefed

. Find out the correct spelling -

(a) jewelery (b) jewellry
(c) jwellery (d) jewellery
Find out the correct spelling -

(a) prevalent (b) pravalent
(c) prevelant (d) prevalent

Poets often write in a mood.
(a) disgusting (b) critical

(c) sensible (d) reflective

Your remark is wide the mark.
(a) off (b) of

(c) around (d) upon

A “pandora’s box” is so called because -
(a) it belonged to the Pandavas

(b) it is made at Pandara road

(c) it contains undergarments

(d) it contains all the gifts\

Which one of the following expressions is
correct?

(a) One of the boy are absent
(b) One of the boys is absent
(c) One of the boys are absent
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(d) One of the boys is absent

Who is the present Chairperson of the Planning
Commission?

(a) Amartya Sen

(b) Montek Singh Ahluwalia
(c) Sonia Gandhi

(d) Manmohan Singh

What is an anagram?

(a) The result of rearranging the letters of a
word or phrase to produce a new word or
phrase

(b) A geometrical shape with 'n' number of
sides

(c) A telegraph transmitted via analogous mode
(d) A technique for constructing holograms

Who is the author of the books “Three Men in\a
Boat” and “ldle Thoughts of an Idle Fellow”?

(a) Jerome K. Jerome
(b) Ruskin Bond

(c) Rudyard Kipling
(d) O. Henry

18.

19.

20.

21.

(d) Charles Dickens

22. What is the number of States in the Union of

India?
(a) 28 (b) 32
(c) 26 (d) 27

23. The Tarapur Atomic Power Station was

established under an Agreement with:
(a) Britain

(b) Soviet Union

(c) United States of America

(d) Canada
24. Metals that can be easily beaten into sheets are
known as:
(a) Beatable (b) Malleable
(c) Polymers (d) Ductile

25. Why does a freshly cut apple change color after

some time?

26.

27.

29.

30.

31.

32.

(a) Due to growth of sugar degrading bacteria
in the apple

(b) Due to bacterial defense mechanism of the
exposed fruit tissue

(c) Due to oxidation reaction
(d) All of the above

Who is the Prime Minister of Pakistan following
the 2008 general elections?

(a) Asif Zardari
(b) Nawaz Sharif

(c) Yousaf Raza Gillani
(d) Altaf Hussain

aval Staff of

% i Singh Shekhawat.

meaning of the phrase 'ubi jus ibi
a) Justice for all is the remedy of social evils
(b) Where there is a right, there is a remedy

(c) Complete justice requires speedy remedy

(d) Justice must not only be done but seem to
be done

Which one of the following pairs of military
honors is matched incorrectly:

(a) Param Vir Chakra: India

(b) Victoria Cross: Britain

(c) Medal of Honor: United States of America
(d) Legion of Honor: Germany

Which of the following is not associated with the
American Revolution for independence?

(a) No taxation without representation
(b) Boston Massacre

(c) Battle of Gettysburg

(d) Battle of Lexington and Concord

Who is the author of the short story “The Last
Leaf"?

(a) O. Henry (b) Agatha Christie
(c) Ruskin Bond (d) Jeffery Archer

Who is the present United States Secretary of
State?

(a) Colin Powell (b) Condoleezza Rice
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(c) Hillary CI|nton (d) Dick Cheney

Which of the following statements regarding
ISRQO's April 2008 rocket launch is incorrect?

(a) The launch was carried out using PSLV-C9
rocket

(b) The rocket carried 10 satellites at the same
time

(c) The rocket was launched from Andaman
and Nicobar islands

(d) The rocket -carried
international satellites

34. Each of the following personalities were victims
of assassination except one. Mark the one.

(a) Indira Gandhi

(b) John F. Kennedy
(c) Zulfikar Ali Bhutto
(d) Abraham Lincoln
Which is the current Five-year Plan for
(a) Twelfth Five-year Plan
(b) Tenth Five-year Plan

33.

Indian as well as

35.

36.

(a) The Vice
Chairman

(b) Sh. Somnath
Speaker

(c) Sh. Mohammad
Chairman

(d) Under certain circumstances, the Chairman
is not allowed to preside over the proceedings
even if he is present

In whose presence does the President of India
subscribe to the oath of affirmation?

(a) The Chief of Army Staff of the Indian Army
(b) The Chief of Staffs of all the three services
(c) The Speaker of Lok Sabha

(d) The Chief Justice of India

You purchased a mobile phone handset which
stopped working in its guarantee period. The
mobile handset manufacturer is refusing to
repair or replace the same. What would you do
to get justice quickly?

its present

Hamid Ansari is its present

37.

38.

39.

40.

(a) Approach the civil court with a suit for
declaration

(b) File a writ petition before the Delhi High

Court

(c) Approach the consumer disputes redressal

forum

(d) Make a complaint of cheating before the

local police station

PRINCIPLE: No person shall be prosecuted

and punished for the same offence twice.

about thé
had been

and found the watch in
, the Court found h|m

ome to apologize for his conduct. After
left, it was discovered that 'B's' watch was
missing. 'A' informed the police who located the
watch from 'A's' home. Can 'A' be prosecuted
for theft?

(@) No, he has already been prosecuted and
punished for theft and cannot be punished for
the same again.

(b) No, he is a kleptomaniac with a
psychological disorder of stealing and therefore
cannot be found guilty.

(c) Yes, he can be prosecuted because he has
committed two separate acts of theft.

(d) Yes, he can be prosecuted because the
recovery of the stolen goods in each case has
been from separate places.

PRINCIPLE: Nothing is an offence which is
done by a person who, at the time of doing it,
is, by reason of intoxication, incapable of
knowing the nature of the act, or that he is
doing what is either wrong, or contrary to law:
provided that the thing which intoxicated him
was administered to him without his knowledge
or against his will.

FACTUAL SITUATION: 'A' was having a get
together with his old friends and on his friends
suggestions, he consumed some alcohol. On
his way back to home at home at night, 'A’
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heard some footsteps and turning back, he
imagined he saw a figure moving towards him
with a spear. In fact, it was only a man, 'B' with
an umbrella who was telling 'A' to walk carefully
since 'A' appeared to be unsteady.

However, 'A' proceeded to attack 'B' with an
iron rod leading to grave injuries to 'B'. Is 'A'
guilty of causing grevious hurt to 'B'?

(@) No, 'A" is not guilty because in his
intoxicated state, the umbrella appeared a
spear to him and he exercised his right of
private defence.

(b) No, 'A' is not guilty because 'B' could have
attacked 'A’ with his umbrella.

(c) No, 'A' is not guilty because he was
intoxicated on the suggestions of his friends
and was incapable of knowing that he was
savagely attacking a man who was carrying
only an umbrella.

(d) Yes, 'A' is guilty because he got intoxicated
voluntarily and under the effect of this voluntary
intoxication, he attacked and caused grievous
injuries to 'B' who posed no threat to him in fact.

VAN VY VT
1. (c) 2. (c) 3.\l \V4 \ M|\ |5 (a)
6. (d) 7. (c) AN\ \\ e/ o\ \\ @) 10. (c)
11. (d) 12. @ 13N\ @) () N4\ @) 15, (b)
16. (d) 17. @\ 18\ \\d)\ 19T (a) 20. (a)
21. (a) 22\ [da)\\ \ |28 7 |\ 24, (b) 25. (d)
26. ) \[1275 \\ [ \\ 128\ J(b) 29. (d) 30. (c)
31. (a\\ ' N ?;z B \ ) \\ @,3 (c) 34. (c) 35. (c)
36. (b)\ \\\) 37.() \\@_/ \]38. (c) 39. (c) 40. (d)
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